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Average Salary for Certified Implementation Specialist - Discovery (CIS Discovery) Exam Certified
Professional
The average salaries of CIS Discovery Exam certified professional in different countries is stated below:

- Europe: 55,000 Euro- India: 4,00,000 INR- United States: 66,500 USD

How to Prepare for Certified Implementation Specialist - Discovery (CIS Discovery) Exam Preparation Guide
for Certified Implementation Specialist - Discovery (CIS Discovery) Exam Introduction
The ServiceNow Accredited Application Professional - Discovery CIS Discovery exam test specifies the intent, audience, testing

choices, coverage of the substance of the exam, the research framework, and the specifications to become Discovery Certified. The

ServiceNow Accredited Deployment Expert - Discovery test certifies that a qualified applicant has the expertise and experience to

configure, handle, execute, and retain a Discovery framework on the ServiceNow platform. With preparation and qualification, you

can learn how to master the strengths of ServiceNow by hands-on, real-world coaching to help you achieve your objectives. If you

take interactive or in-person classes from ServiceNow or one of our Accredited Training Partners or study CIS Discovery exam
dumps, you can learn how to be effective with the Now App. Companies are searching for proven practitioners-and companies
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utilizing trained professionals are looking for faster rollout and effective usage of ServiceNow. Being accredited would improve

your career and help you add much further to the performance of your company.

 

NEW QUESTION 98

Which choice represents the three best ways of extending Discovery?

*  Orchestration, Classifiers, Discovery Patterns

*  Fingerprinting, Classifiers, Discovery Patterns

*  Orchestration, Classifiers, Probes & Sensors

*  Classifiers, Probes & Sensors, Discovery Patterns

*  Classifiers, Fingerprinting, Probes & Sensors

NEW QUESTION 99

Discovery finds and maps dependencies for the following types of storage devices. (Choose three.)

*  Direct-attached storage (DAS)

*  Network-attached storage (NAS)

*  Storage area network (SAN)

*  Multiple area network (MAN)

*  Redundant Array of Independent Disks (RAID)

NEW QUESTION 100

What role is needed by the MID Server&#8217;s user account to interact with a ServiceNow instance?

*  mid_server

*  discovery_admin

*  sm_mid

*  mid_discovery

NEW QUESTION 101

In a horizontal discovery pattern, which variable syntax should be used to populate the custom column u_custom_col on table

cmdb_ci_linux_server when using the Set Parameter Value operation?

Response:

*  $cmdb_ci_linux_server.u_custom_col.INSERT

*  $cmdb_ci_linux_server[*].u_custom_col

*  $u_custom_col[1].cmdb_ci_linux_server

*  @custom_col.cmdb_ci_linux_server

NEW QUESTION 102

What is necessary to use Debug form Pattern Designer?

Response:

*  Discoverable Cl

*  Installed Service Mapping

*  Proxy server

*  Admin role

(2023) PASS CIS-Discovery Exam Free Practice Test with 100% Accurate Answers [Q98-Q119] |  Page 2/6  |

https://blog.dumpleader.com/?p=427
https://blog.dumpleader.com/?p=427


This page was exported from - IT certification exam materials 
Export date: Sat Jan 18 8:46:53 2025 / +0000  GMT

NEW QUESTION 103

How many shazzam batches are made by the Discovery Schedule for 10000 IP Addresses if the Shazzam batch size is 1000.

Response:

*  10

*  20

*  15

*  5

NEW QUESTION 104

A discovery pattern of type application can be used by both Horizontal Discovery and Vertical Discovery.

Response:

*  True.

*  false.

NEW QUESTION 105

Different types of Operation Choices available on a pattern Designer.

Response:

*  Query, Parse, Data, Action

*  Query, Parse, Data, Transform

*  Query, Parse, Data, Action, Transfoirm

*  Query, Parse, Data, Action, Classify

NEW QUESTION 106

Which operation is used to change from the default credentials to any other appropriate credentials in a horizontal pattern?

*  Change credentials

*  Change user

*  Alternate credentials

*  Alternate user

NEW QUESTION 107

A horizontal pattern must have ______ to execute from a process classifier.

Response:

*  a subnet entry point type

*  an entry point of HTTP(S) type, for patterns running on a web server application

*  an entry type of any kind

*  a TCP entry point type or ALL entry point type

NEW QUESTION 108

Given a custom column named u_custom_column on table cmdb_ci_linux_server, which variable syntax should be used to populate
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the column in a horizontal discovery pattern using the Set Parameter Value operation?

*  $user_var_custom_column

*  $cmdb_ci_linux_server.u_custom_column.INSERT

*  $u_custom_column[1].cmdb_ci_linux_server

*  $cmdb_ci_linux_server[*].u_custom_column

NEW QUESTION 109

What is the purpose of the Discovery Configuration Console?

Response:

*  Enable/Disable the discovery of Devices(Windows,Unix) , Applications & Include/Exclude the discovery of installed Software

(Correct) based on filters

*  Configuration of Discovery debug logs and other properties

NEW QUESTION 110

In a pattern operation, to correctly call the value of the execDir variable from tabular process variable, we should use ________ .

Response:

*  $process_execDir

*  &#8220;process_execDir&#8221;

*  process(execDir)

*  $process.execDir

NEW QUESTION 111

What is the best way to keep the CI which are not rediscovered in the last 30 days up to date.

Response:

*  Scheduled Jobs

*  Data Policies.

*  Business Rules

NEW QUESTION 112

Which of the following choices must be installed on a MID Server to run Credential-less Discovery?

*  Credential-less Extension

*  Nmap

*  Advanced IP Scanner

*  Defender

NEW QUESTION 113

What value in the Queue Column do you check to differentiate between probes and sensor records in the ECC Queue?

Response:

*  Sensor records are in the input queue, probe record are in Output Queue

*  Sensor records are in the output queue, probe record are in Input Queue
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NEW QUESTION 114

A is a series of operations that tell Discovery which Cls to find on your network, what credentials to use, and what tables to populate

in the CMDB.

Response:

*  Classifier

*  Identifier

*  Pattern

*  Explorer

NEW QUESTION 115

What network protocol is needed to discover network devices like routers, switches etc?

Response:

*  1) WMI Protocol with username/password

2) Domain Administrator permission

*  1) SNMP Protocol with community string

*  1)SSH Protocol with username/password, or private key

2) Root or Sudo privileges must be granted

NEW QUESTION 116

Based on the following images, which choice best describes what occurs if Discovery sets the name attribute of a discovered

Windows Server CI to &#8216;Windows1&#8217; and then Altiris discovery runs detecting &#8216;Windows2&#8217; for the

name attribute on the same CI?

*  The name of the CI stays &#8216;Windows1&#8217;.

*  The name of the CI changes to &#8216;Windows2&#8217;.

*  The name of the CI does not populate with either discovery.

*  The CI is not discovered because Discovery is not listed in either image.

NEW QUESTION 117

A tabular variable in a discovery pattern ______ .

Response:

*  is a single string

*  has each cell as Cl attribute

*  is a single column

*  has each cell as a scalar variable

NEW QUESTION 118

What does AMB Stand for in ServiceNow?

Response:

*  Asynchronous midserver bus
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*  Automatic Message bus

*  Asynchronous messaging bus

NEW QUESTION 119

In a network, a certain number of ports is required to be opened for WMI to discover a subnet of Windows Servers containing highly

sensitive data. What would you do to reassure network administrator who is concerned about opening ports?

Response:

*  Deactivate the Shazzam probe.

*  Create a WMI only behavior.

*  Set WinRM as the value of the mid.windows.management_protocol parameter.

*  Create an access rule to stop WinRM.
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